
Home » ASPVO » ASPVO HF23ACTB Coffee Table Installation Guide 

HF23ACTB Coffee Table
Installation Guide

Contents
1  HF23ACTB Coffee
Table
2  Documents /
Resources

2.1  References

HF23ACTB Coffee Table

ASPVO HF23ACTB Coffee Table Installation Guide

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/aspvo
https://manuals.plus/aspvo/hf23actb-coffee-table-manual.pdf
https://manuals.plus/#hf23actb_coffee_table
https://manuals.plus/#documents_resources
https://manuals.plus/#references


Model: HF23ACTB

Attention: First o all, put a piece of carton or rug on the floor, then begin to install the panels, so as to prevent the
parts from scratch.

STEP# I Find 4 Rounded Bars (part 2) and screw 4 dowel pin bolts (part A) in each of them.



STEP #2 Insert 2 wood dowel pins (part C) into each side of panel 5 & 6

STEP #3 Insert 2 wood dowel pins into each side of panel 3 & 4, and 2 wood dowel pins into top of panel 4.



STEP #4 Put rounded bars (part 2) and panel 3-6 together.

STEP #5 Put 16 cam bolt nuts (part B) inside the holes on panel 3-6, then screw to lock them.



STEP #6 Find panel 9 and screw 5 dowel pin bolts (part A) into it.

STEP #7 Place panel 8 and panel 9 together and align them.



STEP #8 Tum the assembled table frame (step 5) upside down then Fit it on panel 8 & 9.

STEP #9 Put 5 cam bolt nuts (part B) inside the holes on panel 4&5&6, then screw to lock them.



STEP #10 Prepare two lift mechanisms and align them with pre-drilled holes on panels.

STEP # 11 Find IO m5 screws and fasten lift mechanisms to the panel 5 &6& 8.



STEP # 12 Find panel 7 and screw IO dowel pin bolts (part A) into it.

STEP# 13 Fit panel 7 onto table frame, align the bolts and pins carefully.



STEP# 14 Fasten 4 solid wood legs on to pre-assembled metal plates on panel 7

STEP #15 Hold the lifetable side (Panel 8) and carefully flip the coffee table.



STEP #16 Lift the tabletop, put 10 cam bolt nuts (part 8) inside the holes on panel 3-6, then screw to lock them.

STEP #17 Place metal bar (Part I 0) between two lift mechanisms, fasten two m6 screws (part F) into it.



STEP # I 8 (Optional) Put 31 white stickers (Part D) on the cam bolt nuts to cover them. Then you are all set!

HF23ACT



Documents / Resources

ASPVO HF23ACTB Coffee Table [pdf] Installation Guide
HF23ACTB Coffee Table, HF23ACTB, Coffee Table, Table

References

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

https://manuals.plus/m/23344bd64dd2164bd0f2a77ccaa1ebbd63acd6d5461ae9d6f74562146952b551
https://manuals.plus/m/23344bd64dd2164bd0f2a77ccaa1ebbd63acd6d5461ae9d6f74562146952b551.pdf
https://manual.tools/?p=11929775#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	ASPVO HF23ACTB Coffee Table Installation Guide
	HF23ACTB Coffee Table
	Documents / Resources
	References



